Radiometric Dating Practice

Use the table below to help solve the problems
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Parent  Daughter  (years) (years)
Carbon 14 Nitrogen 14 5730 100- 30,000
Potassium 40 Argon 40 Labiion 000

i ion 10 million -
Rubbliin 7 Sty S hidion  Jiilion
Uranium 238 Lead 206 45billion 10 million -
Uranium 235 Lead 207 710 million 46 billion





1. If a sample contains 100 g of a radioactive isotope, how much will be left after 3 half lives?

2. If a sample contains 50g of a radioactive isotope, how much will be left after 2 half lives?

3. If a sample contains 20g of an isotope that has a half life of 1000 years. How much will be left after 2000years?

4. If a sample has only 20 g remaining after 3 half lives, how much was there to start with?

5. If you start with 1000 g of Carbon 14, how much will remain after 4 half lives?

6. Assume you start with 10,000 Carbon 14 atoms. How many will remain after:


1 half life? ___________
2 half lives? _________
3 half lives? _________

7. What is the half life of Potassium 40? ____________________________________________

8. If a fossil originally contained 100,000 Potassium 40 atoms and it now contains only 12,500, how old is the fossil?
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a. What is the half life of the element in the picture? _______________________________

b. If you start with 100 g, how much do you have after 30 minutes?

c. If you have 10 g at 20 minutes how much did you start with?
0 minutes		10 minutes		20 minutes		30 minutes








